English

1. State the type of the sentence

Please wait for me

A.Assertive B.Imperative
C.Interrogative D.Exclamatory
2. The noun 'Peacock’ is in gender
A.Masculine B. Feminine C.Common D.neuter

3. Which of the following is a collective noun?

A.India B. Patience C.Crowd D.Football
4. Which of the following word is an Adjective
A. Smart B.Innocent C.both aand b D.None of the above

5. Which of the following word is an Adverb?

A. mountain B.slowly

C. Write D.because
6. did you meet at the fair?

A. who B.which

C. what D.whom
7. Raviis the son

A. older B.elder

C. eldest D.oldest
8. Sheis than him

A. Smart B.Smartest

C. more smarter D.smarter
9. Heis such elegant man

A. the B.an

C. a D.none of them
10. Harry gone to the party

A. have B.has

C. was D.did
11. We obey the rule

A. must B.may

C. ought D. need
12. Tick the correct form the verb

The train before we reached the station
A. has left B.leave

C. had left D.have left




13. Tick the correct form the verb

The lady the road when | saw her
A. were crossing B. crossed
C. was crossing D.will be crossing

14. The boy broke the glass.

The verb 'broke' is

A. Transitive B.Intransitive
C. Complete D.Incomplete
15. She has done her work

The correct passive form of the sentence is :

A. Her work was done by her B.Her work have been done by her
C. her work had been done by her D.Her work has been done by her
16. The house was painted by me.

The correct active form of the sentence is

A. | am painting the house B.I have painted the house
C. | painted the house D.I will paint the house
17. Neither of the girls comfortable here.
A. is B.are
C. were D.none of above
18. My birthday is July.
A.in B.on
C. at D.into
19. The mouse crept the hole
A.in B. on
C. onto D. into
20. Mr. Roy was sick, he watched the show
A. and B.because
C. yet D.or

21. Mother said, 'Simi is going to Delhi'
The correct indirect form of the sentence is:

A. Mother said Simi is going to Delhi

B. Mother said that Simi was going to Delhi
C. Mother said that Simi went to Delhi

D. Mother said that Simi is going to Delhi




22. Choose the correct synonym for the word 'captive':

A. Free B. imprisoned

C. luminous D. conflict
23. Choose the correct antonym for the word 'impudent’

A. impolite B. uncivil

C. polite D. insolent
24. Choose the correct synonym for the word 'admit’

A. il B. deny

C. bar D.confess
25.Choose the correct antonym for the word 'defend’ .

A. Protect B. attack
C. Preserve D. vile
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